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Plot [[ setVI _ETcl’
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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EQ4AW_W2, Day=16 (2025-06—08)
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EQ4AW

BYIE) | BRI (F)) | s (EAH/ER) | BREE (B/R) | XK ERR

05:55 60 30.0 0. 052 BE| {Ri&e05:55 Fz (REAEHE)
06:55 60 30.0 0. 052 BE| 1BRi%e06:55 F3h (RF{EREE)
07:55 60 30.0 0. 052 BE| {Ri&e07:55 Fr (REEEE)
09:00 60 30.0 0. 052 RS {Ri&@09:00 Fz (REAEHE)
10:55 60 30.0 0. 052 BE| 1Ri%e10:55 Fzh (RFA{ERE)
12:25 60 30.0 0. 052 e Bi%e12:25 Fz (REERSE)
13:45 60 30.0 0. 052 S| Rige13:45 Fz (REAEHE)
15:10 60 30.0 0. 052 S| 1Ri%e15:10 Fzh (REEZRE)
23t 480.0 (8%) 240.0 323 KEC: 2340.0, PH: 6.5

TERRHLER 2 STEELRR (51.0 :

EIRGEBBHCRIZIR 2N (75 vs 58.0))

ZRIASERRIERE39. 0 ml.

39.0), FIREKRFBERE

REFRESIPH (4.82) 5i8%EPH (6.2) REKK, BH/T
REREEEIPH (4.82) 5FJPH (6.25) REK A, BT
LRGERPH (4.8) 5iEEE (6.2) REKK, BHE.
LORFEBIPH (4.8) S5#REIEN (6.5) REKK, BRE.




EQ4AW_W2, Day=14 (2025-06-06)
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EQ4AW

ByiE) | GEBEATE (FD) | ERE (BHA/) | EBREE(B/R) | XS EFE

05:30 60 30.0 0. 052 BE| {RRi8@05:30 Fz (REAEHE)
06:30 60 30.0 0. 052 RS 1Ri&e06:30 F3h (FFEEESE)
07:30 60 30.0 0. 052 RS {Ri&e07:30 Fz (REAEHE)
10:10 60 30.0 0. 052 FE| 1BRi%@10:10 F31 (kBERSE)
12:30 60 30.0 0. 052 FA| 1Bi&e12:30 Fzh (RAEREE)
15:00 60 30.0 0.052 |Z=| 1BRi&e15:00 Fzh (KAEESE)
=it 360.0 (6:%) 180. 0 3EHKEC: 2340.0, PH: 6.5
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LORGEBIPH (4.8) S5HEAVEN (6.5) REKK, BRE.




EQ4AW_W2, Day=13 (2025-06-05)
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